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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O 2R e e

(a) Define fertility rate.
Tl 3] Age Tt |

(b) What is microfinance?
TS IT 2
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(2)

() Mention one impact of land-tenure
system.

$R-T7 IRER 961 2SR TrEy 91 |

(d) Point out one common deficiency
involving in governance.

e RS Al @b Ty & SrEd
I

e} What is rural-urban migration?
-5 oS Jferce & 3w 2

() Point out one social challenge arising
from globalisation in India.

SRS TR Fo© T (@@ Wbl A&
SR SrEd 41 1

(g) In which year was the Rio Summit held?
=’ Ao W v SEPe CxfRe 2

(h) Define individual behaviour in social
environment.

A& ke IfE eI Fige a3 |
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(3)

() Mention one contribution of agriculture
to the process of economic development.

wes T efrare T @b sz SeEe
1

() Write one cause of gender inequality in
a family.

GB1 AR oot fae (IR Qb1 IR o |

2. Answer the following questions : 2%x5=10
Co1q 2PPTYRA e o

(a) Define globalisation.
femama igen faan

(b) What is the relationship between the
age structure of a population and its
dependency ratio?

GPRYRA PR NI S fFSaerer semes
&S AP ool 2

(c) What are the types of environmental
externalities?

AfEsTS AFFeR AIRER & 2
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(d) Why is sustainability of renewable
resources important?

TRIFATCIIN T IZCIne] 7 aFg7yd 2

(e) What is landlord-tenant relationship?
-+ S e ofacor 2

3. Answer any four from the following
questions : 5x4=20

o] 2P R e vk B fr

(a) Explain the role of agriculture in
economic development.

GfAfSE Tagme IR R 13w ¥4

(b) Write a note on credit market in
agrarian society.

PR GG ¥ ISR 827G fe Gt 3 |

(c) Explain the distinction between
community governance and corporate
governance.

SRR P SIF S PR 9% 14 R
41 |
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(d) Briefly discuss the major eras of
globalisation in the last 150 years.

@A Seo IS AR 2y LIIW 5LF
SICATST 41 |

(e) Explain the factors which influence

individual behaviour in an organisation.

2GS JE TAHATE 2SS TN ISR 94
341 | :

( What is “ertility gap’? Explain the
fertility gap in terms of Leibenstein
theory of population.

Lo T 7 ERAETR TR TR 1
wiagce Tel F1T YIRENC! I 341 |

4. Answer the following questions : 10x4=40
o 2R T i

(a) Discuss the functioning of labour
market in agrarian society. 10

IRED TS T IWA IS ST
I
Or / 7231

Explain the demographic transition
during the process of development. 10

T dfeaR ANEEEe SRS [TER
e ScEm- 41 1
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(b)

(c)
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(6)

Examine Hirschman’s exit, voice,
loyality theory as a response to

organisational inefficiency. 10
BRETR a7W, I WEF  HES] TGO
s srrer afsfEm RorR <R[ 41 |

Or / 231

Discuss the impact of globalisation on
developing countries in terms of
international finance. 10

FEEfes [Rer wRuce Taema orre fReymaa
oS HICATSA] F4T |

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation. 2+8=10

AT I QA ? AW 9Bl FAFe A M
T2 SHIRACIR SCABAT F4T |
Or / g

Critically discuss the various land
reform measures adopted in many
developing countries. 10

Rfea Smia orre RS @@ [fea s kR
QLR A TP AT 347 |
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(7))

(d) In what way common property resource
theory provides a useful framework
for analysing environmental issues?
Explain. 10

MYRT  FA=ofE  FAoom  SGooid AR
APNIRR Romd e [ a6 s
FOCIRT o IR, I 41 |

Or / Tg

Write short notes on : 5+5=10
12 o feran -
() Nutrition and labour productivity
*ff2 I 2R BT

(i) Economic activity and climate
change

GLeT IR P TEY ARG

* K K
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